Available Flash Patterns:
. ActionScan™

. SignalAlert™ ALT

. SignalAlert Sim)

. SignalAlert (Alt/Sim)
. CometFlash® (Alt)

. CometFlash (Sim)

. CometFlash (Alt-Sim)
. DoubleFlash 75 (Alt)
9. DoubleFlash 75 (Sim)
10.DoubleFlash 75 (Alt-Sim)
11.8SingleFlash 75 (Alt)

0N O WN =

12.SingleFlash 75 (Sim)
13.SingleFlash 75 (Alt-Sim)
14.LongBurst™ (Alt)
15.LongBurst (Sim)
16.LongBurst (Alt-Sim)
17.SingleFlash 60 (Alt) CA
18.SingleFlash. 60 (Sim) CA
19.SingleFl. 60 (Alt-Sim) CA
20.SingleFlash 90 (Alt) CA
21.SingleFlash 90 (Sim) CA
22.8SingleFl. 90 (Alt-Sim) CA
*23.SingleFlash 120 (Alt) CA

*24 SingleFlash 120 (Sim) CA
25.SingleFl. 120(Alt-Sim) CA

*26. SingleFlash 300 (Alt)

*27.SingleFlash 300 (Sim)
28.SingleFlash 300 (Alt-Sim)

*29.MicroBurst™ (Alt)

*30. MicroBurst (Sim)
31.MicroBurst (Alt-Sim)

*32. ActionFlash™ (Alt)

*33. ActionFlash (Sim)

*36.PingPong (Sim)
37.FlimFlam (Alt.)
38.ModuFlash™ (Alt)
39.ModuFlash (Sim)
40. Steady 5%

41. Steady 1%
42.Steady 4%
43.Steady 8%
44.Steady 12%
45.Steady 40%

48.LongBurst Sweep
49.1nOut Blast
50.Sequence On/Off
51.ZigZag

52.Rotator 90

53.Rotator 120

54.Rotator 150

55.Rotator 250

CA = Calif. Title XIll Compliant

Alt = Alternating
Sim = Simultaneous

34. ActionFlash (Alt-Sim) 46.InOut Alt-Sim = Alternating-Simultaneous
*35.PingPong™ (Alt) 47.Sweep * =SYNC
BLACK
8 GREY — Connects to GREY wire of other
2z SYNC capable product (See Copy)
3
e WHITE/VIOLET —0
Momentary
Switch
2 VIOLET o o
'C_D SP/ST Switch
m
ORANGE o o -
SPIST Switch 85‘
f =
RED o o 8
SPIST Switch 7 5A Fuse
WIRING DIAGRAM
ALL SWITCHES AND FUSES BATTERY
ARE CUSTOMER SUPPLIED
QTY|QTY|QTY|ITEM| PART NUMBER DESCRIPTION
* 01-0684656__ | GUARDIAN™ /400 LIN LED 12VDC PERM
* 01-0684656__ | GUARDIAN™ /400 LIN LED 12VDC MAG
* 01-0684656__ | GUARDIAN™ /400 LIN LED 12VDC MAG/SUCT.
AR|AR|AR| 1 | 68-4983857-10 | DOME, AMB NON OPTIC GUARDIAN
AR|AR|AR| 2 | 68-4983857-20 | DOME, BLUNON OPTIC GUARDIAN
AR|AR|AR| 3 | 68-4983857-30 | DOME, CLR NON OPTIC GUARDIAN
AR|AR|AR| 4 | 68-4983857-40 | DOME, GRN NON OPTIC GUARDIAN
AR|AR|AR| 5 | 68-4983857-50 | DOME, RED NON OPTIC GUARDIAN
AR|AR|AR| 6 | 68-4983857-V0 | DOME, VIO NON OPTIC GUARDIAN
2 | 2] 2|7 |07-284655-000 | BRACKET, 400 HYBRID MOUNTING
24 | 24| 24| 8 | 13-062C40-16J | SCREW GROMMET #6 #3 FASTEX
24 | 24| 24| 9 | 15-06541A-200 | SCREW,#6 X 1 1/4 PPH PLASTI-LOK
1] 1] 1]10|11-383856-000 | BASE, GUARDIAN FAMILY
1] 1] 1|1 |38-0163610-00 | GASKET, BASE
1] 1| 1|12 |21-47001603-0 | STRAINRELIEF, 12", SPT-2 HPN 1612, BLK NYLON, 94V-2
2 | - | - |13]08-1583927-05 | SUCTION CUP, MAG./SUCTION CUP MT
2 14 | 16-1302820-06 | WASHER, FLAT 1/4" 7/8" O.D.
2 | - | - |15]15-211416-128 | SCREW, 14 X 3/4" PPHSMS TYPE A, O-RING
-4 16 | 65-0010191-00 | MAGNET, X-50
2 | 6| 2|17 |15-081416-080 | SCREW #8 X 12" PPHSMS
8 | 8| 8 |18 |15-081916-066 | SCREW #8 X 3/8" PHEXWASHHD
AR|AR|AR| 19 | 01-026B569212| SUBASS'Y, 400 LINEAR TIR AMB 2 WIRE
AR|AR|AR| 20 | 01-026B569222| SUBASS'Y, 400 LINEAR TIR BLU 2 WIRE
AR|AR|AR| 21 | 01-026B569232| SUBASS'Y, 400 LINEAR TIR WHT 2 WIRE
AR|AR|AR| 22 | 01-026B569242| SUBASS'Y, 400 LINEAR TIR GRN 2 WIRE
AR|AR|AR| 23 | 01-026B569252| SUBASS'Y, 400 LINEAR TIR RED 2 WIRE
6 | 6| 6 |24|68-1183304-30 | LENS, CLEAR/OPTIC 43 HALOGEN
1] 1] 1]25)|26-2015976-00 | CABLE TIE, MT BASE W/ ADHESIVE not shown
1] 1| 1]26|26-0215001-06 | TYWRAP 6" BLACK not shown
1] 1] 1|27 |01-026A213-00 | ELECT 6 CHANNEL FLASHER
1] 1| 1|28 10-0543418___ | LABEL, PINMINSIN
1] 1| 1|29 |66-0421074-00 | TAPE, DOUBLE-SIDED VHB
- | - | 1]30]|01-0442961-00 | KIT, PERM MOUNT, GUARDIAN
1] 1] 1] 31| 46-076A239-00 | HARNESS OUTPUT 6 CHANNEL not shown
1] 1| - |32)|39-0402023-04 | HOUSING, 2 POS SCKT HOUSING
1] 1 34 | 02-0246315-01 | CIG. PLUG, 18 GA10' ON/OFF SWTCH 8A FUSE
AR|AR|AR| 35 | 26-0215001-03 | TY WRAP 3" BLACK
- | - | 1]36]|46-076A219-00 | ASSY, HARNESS INPUT
P/NKEY: 01-0684656 OUTER DOME COLOR LED COLOR MOUNT

Bmoum A-AMBER G - GREEN
LEDCOLOR B-BLUE R-RED

OUTER DOME COLOR  C - CLEAR V- VIOLET

1-AVBER P-PERM
2-BLUE  M-MAG.
3-WHITE  V-MAG/

4 - GREEN SUCTION
5-RED



